686 Answers to Problem;

17. Arcasonable estimate for y att = 2.5 is between 18 and 19. No reliable estimate is possibl
at t = 3 from the specified data.
18. (b)2.37 <y < 2.38 19. () 0.67 < oy < 0.68

Section 2.8, page 113

1. dw/ds=(G+1D>+w+2)?% w(0)=0
2. dw/ds:l-—(wk—|—k3)3, w(0) =0
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Section 2.9, page 124
1. ynz(ml)”(og)"y()’ y,,->0aSn—->oo
2. ¥, =¥y/(n+1); y,—~0asn— o0
3.y, =y/E T Dn+ D2y, ocasn—> o0

4 Yor ifn=4korn=4k — 1,
I — Yo ifn=4k —2orn=4k —3;

¥, has no limitas n — o0

5.y, =05y, — 12) +12; », — 12asn — oo
6. Y = (_1)n(05)n(y0 _"4) +4; Y, dasn — o0
7. 125% 8. $2283.63 9. $258.14
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Answers to Problems 68

10. {a) $804.62 (b) $877.57 (c) $1028.61
K 11. 30 years: $804.62/month; $289,663.20 total 20 years: $899. 73/month;
$215,935.20 total
12. $103,624.62 13. 9.73%
16. (b)u, - —ooasn — oo
19. (a)4.7263 (b) 1.223% (c)3.5643  (e)3.5699
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Miscellaneous Problems, page 126

v = (e/x?) + (5/5)

1 2. arctan(y/x) —In/x% + y2 =c
3. ¥ 4xy—-3y—3y'=0 4. x:cey+yey

5 2y +xy?+x =.C 6. y=x"1(1-¢™

7. (x*+ VP4 De =¢ 8. y= (4 +cos2 —~ cosx}/x?

9. Py+x+y:=c¢ 10. (y/x)+(y/x)—c
1. x¥*/3+xy+e =c¢ 12. y=ce +e‘“xln(1+ex)
13. 2(y/x)"? —Infx]=¢; alsoy=0 4. x>+ 2xy + 2y =34

15. y = c/cosh?(x/2)
16. (2/+/3 ) arctan((2y ~x)//3x]~|x| = ¢

17. y =ce™ — & 18, y=cx?—x

19. 3y —2xy’ —10x =0 20. ef+eV =¢

21 e finjx[=c 22. Y43y —x*+3x =2
1 2x ’

23. ~=--x ———dx~|—cx also y =0 24, sin’xsiny = ¢

25. x 2y + arctan(y/x) = 26. 2 +2%y —y'=¢

27. sinxcos2y — 3 Lsinx =¢ 28. xy+xyd—xP=¢

29, arcsin(y/x) ~lIn|x|=¢; alsoy=xandy= -
30. xy? —Inly]=0
31. x+1n[x|+x—1+y 2lnly|=¢; alsoy=0
32, 2y 4 xyd = —4

CHAPTER 3 Section3.1, page 136

y=ce +ce™ 2. y=ce '+ e

y=c, e+ 4. y—-ce’/2+cze

y—6‘1+626 5: 6. y_ce3x/2_{_cek3r/2

y = ¢; expl(9 + 3v/5)1/2] + ¢, exp[(9 — 3+/3)¢/2]

y—qamu+vﬁﬂ+%ﬁmu—J3ﬂ

9. y=¢é y->o0ast—» 0o

10. y—%e't ée_3’; y—>0ast— oo

1. y =122 —8¢'?, y— —ocast — oo

12. y=—1-¢¥;, y—> —last— oo

13. y = 513+ 5V13) expl(~5 + V1321 + 5 (13 ~ 5v/I3) expl(=5 — +/T3)1/2];
y—+0ast — co

14, y = (2/+/33) expl(— 1+ +/33)1/4] — (2//33) expl(—1 — /33)1/4];
ym—>c>oast_>oo

15, y = e~ I}—I—f’oe*' Ly o00ast— o0

16. y:—% (:+2)/2+% —(+2)/2,

9 N R

y-—> —00ast — oo
17. ¥"+y —6y=0 18. 2y"+5y +2y=0
19. y=1ie¢' + ¢ minimumisy=1ats =In2

20, y = —¢ + 377 mmlmumxsy_—att_ln(9/4) y_Oatth_ln9
21, @=-2 22, B=-




